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1. Find ref. angle by looking at charts(triangles)
2. If trig ratio 1s positive then ref. angle =g
3. Find where else that trig ratio 1s (+) or (-)

4. Use CAST and appropriate equation.



Working Backwards

> A 180-46 &

e 180+ 6 | 3606

Questions from Homework
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Solving Trigonometric Equations

Rearrange before solving!

2sind =1 Qued | uadd
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Solving Trigonometric Equations

Rearrange before solving!
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Solving Trigonometric Equations

sinf-1=0 O%06<2

swo=1 8290w |
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Solving Trigonometric Equations

\50036’+1=0, —-360°<H <720°
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Homework
Omit 4 + b
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Solving Trigonometric Equations

cos” 6 — %cosé’ =0, —360°<6<720°



sin” @ —

?sin@ =0,

—360° < 4 <360°
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2sin‘@+snd—-1=0

0<& <360
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2cos’@—Tcos@+3=0 0<8<360
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